i
Q s Lo SV ORCA H IR 95 1)

b EEGE hxit

AN
+
AN

| —
+
| —

=
_|_

ENT )
I

< &~
+

U\
Il

+
AW

EEN W
+

(S
RSN S

Il

0| i
+
oo | —

O | —
+
O B~
I

+
| W

| —

O O
+
O | W

www.snowmath.com


https://www.snowmath.com

M
Q s 25 GBI ORECA AR IR 43 )
e 451 IYHL:
5 5 5 2
__|___:__:1_
6 6 3 3
11 2
-4 — = —
77 7
1 2 3
—F — = —
4 4 4
4 2 6
_F — = —
77 7
3 3 3 1
= =1]-
4 4 2 2
2i12 =)
4 4
5 1.3
— 4 — = —
8 8 4
1 4 5
— 4 — = —
9 9 9
1 3 4
— 4 — = =
77 7
6 3
—+—-=1
9 9

www.snowmath.com


https://www.snowmath.com

